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Vocabulary Test

Circle the correct answer.
1.
9 – 7 = 2 is a 	.
A. sum
B. difference
C. subtraction number sentence
D. equals
2.
When you take away, you 	.
F. add
G. subtract
H. difference
I. plus
3.
7 – 4 = 3
In this problem, the 3 is called the 	.
A. difference
B. sum
C. minus
D. subtraction number sentence
4.
2 + 4 = 6 and 6 – 4 = 2 are called 	
because they use the same numbers.
F. sum
G. difference
H. subtraction number sentence
I. related facts
5.
The sign used to show subtraction is called
the 	 sign.
A.
B.
difference
sum
C.
D.
minus (–)
plus (+)
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